oo BERERERX (KEBERR)
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FIET A .
1§ B 27T EE 2 8EE 298%F Y —X Z—Y ’Eﬁé’é
X Y z X Y

1 IR #® 127,964 119, 577 131, 401 A 6.6 9.9 4.5
() BFE I 68, 502 63, 678 65, 838 AT.0 3.4 0.4
FHEULA 68, 352 63,578 65, 735 AT.0 3.4 0.4
SREIENE 0 0 0 — — -
(2) BEMN N 59, 462 55, 899 65, 563 A 6.0 17.3 10.0
thEEHEAE 59, 462 55, 899 65, 563 A 6.0 17.3 1.0
2 & A 125,524 117, 473 127,935 A 6.4 8.9 2.2
MEXER 122, 829 114,973 125, 853 A 6.4 9.5 2.2
BEKE5E 48, 005 44,594 43,610 AT A 2.2 0.2
SHRIEE 0 0 0 — — -
QEENER 2,695 2, 500 2,082 AT2 A16.7 7.3
HhAEFR 0 0 0 — — —
3 INFEAURZ ZES| 2, 440 2,104 3,466 A 13.8 64.7] A 182.2
1 BEARMILA 0 0 0 — — -
(Mih 5 & 0 0 0 — — -
Q) thEEHEAE 0 0 0 — — —
2 BEARMIZH 0 0 0 — — -
() EEHEE 0 0 0 — — -
Q) A EEES 0 0 0 — — —
3 BAMIRZZES| 0 0 0 — — —
1 IRZEES 2,440 2,104 3,466] A 13.8 64.7| A 182.2
2 BINX 6,219 8,323 11,789 33.8 41.6 4.1
3 EHRX 6,219 8,323 11,789 33.8 41.6 7.3
1 HABRES 0 0 0 — — —
15 XX 3 3 3 0 0 —
BERPOEBEEH 0 0 0 — — -
IR R FEEH 0 1 0 1 A1 —
EERIFFEEHY 0 0 0 — — —
1 IR thE 101.9 101. 8 102. 7 A 0.1 0.9 —
2 BEINEZLhE 55.8 55. 4 52.3 A 0.4 A 3.1 —
3 BEEREKRFLE — — — — — —
1 FEANEAEEH (N) A 103, 960 102, 670 102, 903 A 1.2 0.2 —
2 FENREFREH (N) B 24,225 23,780 22, 600 A 1.8 A 5.0 —
3 A X B/Ax 100 23.3 23.2 22.0 A 0.1 A 1.2 —

4 FENKBEIAEH (N) 39, 473 39,917 46, 922 1.1 17.5

F) FEANFEAERRE. £

RO (EEMxFEBREBEH) 12X5,




